# SYSTEMS OF BOUNDARY VALUE PROBLEMS OF ADVANCED DIFFERENTIAL EQUATIONS

TADEUSZ JANKOWSKI<sup>1</sup> AND ROBERT JANKOWSKI<sup>2</sup>

 ${\it Gdansk~University~of~Technology} $$11/12~G.Narutowicz~Str.,~80-233~Gdansk,~Poland$   $^{1}Department~of~Differential~Equations~and~Applied~Mathematics$   $^{2}Faculty~of~Civil~and~Environmental~Engineering$ 

**ABSTRACT.** This paper considers the existence of extremal solutions to systems of advanced differential equations with corresponding nonlinear boundary conditions. The monotone iterative method is applied to obtain the existence results. An example is provided for illustration.

**Key words:** Monotone iterative technique, equations with advanced arguments, monotone sequences, existence of solutions.

AMS (MOS) Subject Classification. 34A45, 34K10, 34A40.

### 1. INTRODUCTION

Throughout this paper, we introduce the following notations:

$$F_i(x,y)(t) = f_i(t,x(t),x(\alpha(t)),y(t),y(\alpha(t))), \quad i = 1, 2,$$
  

$$G_i(x,y) = g_i(x(0),x(T),y(0),y(T)), \quad i = 1, 2.$$

Motivated by [7] and [1], in this paper, we investigate the following system:

(1.1) 
$$\begin{cases} x'(t) = F_1(x,y)(t), & t \in J = [0,T], T > 0, \\ y'(t) = F_2(y,x)(t), & t \in J, \\ 0 = G_1(x,y), & 0 = G_2(y,x), \end{cases}$$

where  $\alpha \in C(J, J)$ ,  $f_i \in C(J \times \mathbb{R}^4, \mathbb{R})$ ,  $g_i \in C(\mathbb{R}^4, \mathbb{R})$ , i = 1, 2.

An interesting and fruitful technique for proving existence results for nonlinear differential problems is the monotone iterative method based on lower and upper solutions, for details, see for example [6]. There exists a vast literature devoted to the applications of this method to differential equations with initial or boundary conditions, we indicate only a few, see for example [2]–[6]. We do not know any application of the monotone iterative method to system of advanced differential equations with boundary conditions.

Using the monotone iterative method, we establish general sufficient conditions when problem (1.1) has extremal solutions in a corresponding region (see Theorem 3.1). Problem (1.1) is discussed under the assumption that  $\alpha \in C(J, J)$  and  $t \leq \alpha(t) \leq T$  on J. The one-sided Lipschitz condition on  $f_1, f_2$  and  $g_1, g_2$  with corresponding functions  $K_i, L_i$  and constants  $M_1, M_2$  respectively, is assumed. The assumption that  $K_i$  and  $L_i$  are functions of t has the advantage, because  $K_i$  and  $L_i$  appear in condition (2.5) to guarantee the existence of solutions of problem (1.1). An example will be given to illustrate the results.

## 2. SOME AUXILIARY RESULTS

Consider the following problem:

(2.1) 
$$x'(t) = g(t, x(t), x(\alpha(t))), t \in J, x(T) = k_0 \in \mathbb{R}.$$

**Theorem 2.1** (see [4]). Suppose that

 $A_1: g \in C(J \times \mathbb{R} \times \mathbb{R}, \mathbb{R}), \ \alpha \in C(J, J), \ t \leq \alpha(t) \leq T \ on \ J,$ 

 $A_2$ : there exist nonnegative constants  $C_1, C_2$  such that

$$|g(t, x_1, x_2) - g(t, \bar{x}_1, \bar{x}_2)| \le C_1|x_1 - \bar{x}_1| + C_2|x_2 - \bar{x}_2|$$

for  $t \in J$ ,  $x_1, x_2, \bar{x}_1, \bar{x}_2 \in \mathbb{R}$ .

Then problem (2.1) has a unique solution  $x \in C^1(J, \mathbb{R})$ .

**Lemma 2.2.** Assume that:  $\alpha(t) \in C(J, J), t \leq \alpha(t) \leq T, K_1, K_2, h_1, h_2 \in C(J, \mathbb{R}), L_1, L_2$  are integrable on  $J, M_1, M_2 \in \mathbb{R}$  and  $M_1 - M_2 \neq 0, M_1 + M_2 \neq 0.$ 

Then the system

(2.2) 
$$\begin{cases} y'(t) = K_1(t)y(t) + L_1(t)y(\alpha(t)) + K_2(t)z(t) + L_2(t)z(\alpha(t)) + h_1(t), \\ k_1 = -M_1y(T) + M_2z(T), & k_1 \in \mathbb{R}, \\ z'(t) = K_1(t)z(t) + L_1(t)z(\alpha(t)) + K_2(t)y(t) + L_2(t)y(\alpha(t)) + h_2(t), \\ k_2 = -M_1z(T) + M_2y(T), & k_2 \in \mathbb{R} \end{cases}$$

has a unique solution  $(y, z) \in C^1(J, \mathbb{R}) \times C^1(J, \mathbb{R})$ .

*Proof.* Put P = y + z, Q = y - z. Then, in view of (2.2), we have

(2.3) 
$$\begin{cases} P'(t) = [K_1(t) + K_2(t)]P(t) + [L_1(t) + L_2(t)]P(\alpha(t)) + h_1(t) + h_2(t) \\ k = -(M_1 - M_2)P(T), k = k_1 + k_2, \end{cases}$$

(2.4) 
$$\begin{cases} Q'(t) = [K_1(t) - K_2(t)]Q(t) + [L_1(t) - L_2(t)]Q(\alpha(t)) + h_1(t) - h_2(t), \\ \bar{k} = -(M_1 + M_2)Q(T), \ \bar{k} = k_1 - k_2. \end{cases}$$

Note that problem (2.3) has a unique solution  $P \in C^1(J, \mathbb{R})$ , by Theorem 2.1. Similarly, problem (2.4) has also a unique solution  $Q \in C^1(J, \mathbb{R})$ .

Note that: y + z = P, y - z = Q, so

$$y = \frac{P+Q}{2}, \quad z = \frac{P-Q}{2}$$

is the unique solution of system (2.2). This ends the proof.

**Remark 2.3.** If  $L_1(t) = L_2(t) = 0$  on J, then

$$P(t) = -\exp\left(-\int_{t}^{T} [K_{1}(s) + K_{2}(s)]ds\right) \left\{\frac{k_{1} + k_{2}}{M_{1} - M_{2}} + \int_{t}^{T} [h_{1}(s) + h_{2}(s)] \exp\left(\int_{s}^{T} [K_{1}(\tau) + K_{2}(\tau)]d\tau\right) ds\right\},$$

$$Q(t) = -\exp\left(-\int_{t}^{T} [K_{1}(s) - K_{2}(s)]ds\right) \left\{\frac{k_{1} - k_{2}}{M_{1} + M_{2}} + \int_{t}^{T} [h_{1}(s) - h_{2}(s)] \exp\left(\int_{s}^{T} [K_{1}(\tau) - K_{2}(\tau)]d\tau\right) ds\right\}.$$

**Lemma 2.4** (see [4]). Let  $\alpha \in C(J,J)$ ,  $t \leq \alpha(t) \leq T$  on J. Suppose that  $K \in C(J,\mathbb{R})$ ,  $p \in C^1(J,\mathbb{R})$  and

$$\begin{cases} p'(t) \geq K(t)p(t) + L(t)p(\alpha(t)), & t \in J, \\ p(T) \leq 0, \end{cases}$$

where nonnegative function L is integrable on J.

In addition assume that

$$\int_0^T L(t) \exp\left(\int_t^{\alpha(t)} K(s) ds\right) dt \le 1.$$

Then  $p(t) \leq 0$  on J.

**Lemma 2.5.** Let  $\alpha \in C(J, J)$ ,  $t \leq \alpha(t) \leq T$  on J. Suppose that  $K_1, K_2 \in C(J, \mathbb{R})$ ,  $K_2(t) \geq 0$ ,  $M_1, M_2 \in \mathbb{R}$ ,  $M_1 < 0$ ,  $M_1 + M_2 > 0$ ,  $M_2 - M_1 > 0$ ,  $p, q \in C^1(J, \mathbb{R})$ , and

$$\begin{cases} p'(t) \ge K_1(t)p(t) + L_1(t)p(\alpha(t)) - K_2(t)q(t) - L_2(t)q(\alpha(t)), \\ M_1q(T) + M_2p(T) \le 0, \end{cases}$$

$$\begin{cases} q'(t) \ge K_1(t)q(t) + L_1(t)q(\alpha(t)) - K_2(t)p(t) - L_2(t)p(\alpha(t)), \\ M_1p(T) + M_2q(T) \le 0, \end{cases}$$

where nonnegative functions  $L_1, L_2$  is integrable on J and  $L_1(t) + L_2(t) \ge 0$ ,  $L_1(t) \ge L_2(t)$ ,  $t \in J$ .

In addition, we assume that

(2.5) 
$$\int_{0}^{T} [L_{1}(t) + L_{2}(t)] \exp\left(\int_{t}^{\alpha(t)} [K_{1}(s) + K_{2}(s)] ds\right) dt \leq 1,$$

$$\int_{0}^{T} [L_{1}(t) - L_{2}(t)] \exp\left(\int_{t}^{\alpha(t)} [K_{1}(s) - K_{2}(s)] ds\right) dt \leq 1,$$

Then  $p(t) \leq 0$ ,  $q(t) \leq 0$  on J.

*Proof.* Put P = p + q. Then

$$\begin{cases} P'(t) \ge [K_1(t) - K_2(t)]P(t) + [L_1(t) - L_2(t)]P(\alpha(t)), \\ (M_1 + M_2)P(T) \le 0. \end{cases}$$

Hence,  $p(t) + q(t) \le 0$  on J, by Lemma 2.4. Now,

$$p'(t) \geq K_1(t)p(t) + L_1(t)p(\alpha(t))$$

$$-K_2(t)[q(t) + p(t) - p(t)] - L_2(t)[q(\alpha(t)) + p(\alpha(t)) - p(\alpha(t))]$$

$$\geq [K_1(t) + K_2(t)]p(t) + [L_1(t) + L_2(t)]p(\alpha(t)),$$

$$q'(t) \geq [K_1(t) + K_2(t)]q(t) + [L_1(t) + L_2(t)]q(\alpha(t)),$$

and

$$0 \geq M_1[q(T) + p(T) - p(T)] + M_2p(T) \geq (M_2 - M_1)p(T),$$
  
$$0 \geq (M_2 - M_1)p(T).$$

By Lemma 2.4,  $p(t) \le 0$ ,  $q(t) \le 0$  on J. This ends the proof.

### 3. MAIN RESULTS

Let us introduce the following assumptions:

$$H_1: f_1, f_2 \in C(J \times \mathbb{R}^4, \mathbb{R}), g_1, g_2 \in C(\mathbb{R}^4, \mathbb{R}), \alpha \in C(J, J), t \leq \alpha(t) \leq T,$$
  
 $H_2: y_0, z_0 \in C^1(J, \mathbb{R})$  satisfy the system:

$$\begin{cases} y'_0(t) \le F_1(y_0, z_0)(t), & z'_0(t) \ge F_2(z_0, y_0)(t) \in J, \\ G_1(y_0, z_0) \le 0, & G_2(z_0, y_0) \ge 0. \end{cases}$$

Now, we formulate sufficient conditions under which problem (1.1) has extremal solutions.

**Theorem 3.1.** Let assumptions  $H_1, H_2$  hold and  $z_0(t) \leq y_0(t), t \in J$ . In addition, we assume that

 $H_3$ : there exist functions  $K_1, K_2 \in C(J, \mathbb{R})$  and functions  $L_1, L_2$  integrable on J, such that:

$$f_i(t, u_1, u_2, v_1, v_2) - f_i(t, \bar{u}_1, \bar{u}_2, \bar{v}_1, \bar{v}_2)$$

$$\geq -K_1(t)[\bar{u}_1 - u_1] - L_1(t)[\bar{u}_2 - u_2] - K_2(t)[\bar{v}_1 - v_1] - L_2(t)[\bar{v}_2 - v_2], \quad i = 1, 2,$$

and

$$f_2(t, u_1, u_2, v_1, v_2) - f_1(t, \bar{u}_1, \bar{u}_2, \bar{v}_1, \bar{v}_2)$$

$$\geq -K_1(t)[\bar{u}_1 - u_1] - L_1(t)[\bar{u}_2 - u_2] - K_2(t)[\bar{v}_1 - v_1] - L_2(t)[\bar{v}_2 - v_2],$$

$$if \ z_0(t) \leq u_1 \leq \bar{u}_1 \leq y_0(t), \ z_0(\alpha(t)) \leq u_2 \leq \bar{u}_2 \leq y_0(\alpha(t)), \ z_0(t) \leq \bar{v}_1 \leq v_1 \leq v_1 \leq v_2 \leq v_2$$

$$H_4: K_2(t) \ge 0, L_2(t) \ge 0, L_1(t) + L_2(t) \ge 0, L_1(t) - L_2(t) \ge 0$$
 and condition (2.5) holds.

 $H_5$ : both  $g_1$  and  $g_2$  are non-decreasing in the first variable and non-increasing in the third variable; moreover there exist constants  $M_1, M_2$  such that  $M_1 \leq 0$ ,  $M_1 + M_2 > 0$ ,  $M_2 - M_1 > 0$  and

$$g_i(u, u_2, v, \bar{v}_2) - g_i(u, \bar{u}_2, v, v_2) \le M_1(\bar{u}_2 - u_2) + M_2(\bar{v}_2 - v_2), \quad i = 1, 2,$$

and

$$g_2(u, u_2, v, \bar{v}_2) - g_1(u, \bar{u}_2, v, v_2) \le -M_1(u_2 - \bar{u}_2) - M_2(v_2 - \bar{v}_2)$$

if 
$$z_0(0) \le u \le y_0(0)$$
,  $z_0(0) \le v \le y_0(0)$ ,  $z_0(T) \le u_2 \le \bar{u}_2 \le y_0(T)$ ,  $z_0(T) \le v_2 \le \bar{v}_2 \le y_0(T)$ .

Then problem (1.1) has extremal solutions in the sector

 $y_0(t), z_0(\alpha(t)) \le \bar{v}_2 \le v_2 \le y_0(\alpha(t))$ 

$$[z_0, y_0]_* = \{ w \in C^1(J, \mathbb{R}) : z_0(t) \le w(t) \le y_0(t), \ t \in J \}.$$

*Proof.* For,  $n = 0, 1, \ldots$ , let

$$\begin{cases} y'_{n+1}(t) &= F_1(y_n, z_n)(t) + \mathcal{F}(y_n, y_{n+1}, z_n, z_{n+1})(t), \\ 0 &= G_1(y_n, z_n) - M_1[y_{n+1}(T) - y_n(T)] + M_2[z_{n+1}(T) - z_n(T)], \\ \begin{cases} z'_{n+1}(t) &= F_2(z_n, y_n)(t) + \mathcal{F}(z_n, z_{n+1}, y_n, y_{n+1})(t), \\ 0 &= G_2(z_n, y_n) - M_1[z_{n+1}(T) - z_n(T)] + M_2[y_{n+1}(T) - y_n(T)], \end{cases} \end{cases}$$

where

$$\mathcal{F}(x, \bar{x}, y, \bar{y})(t) = K_1(t)[\bar{x}(t) - x(t)] + L_1(t)[\bar{x}(\alpha(t)) - x(\alpha(t))] + K_2(t)[\bar{y}(t) - y(t)] + L_2(t)[\bar{y}(\alpha(t)) - y(\alpha(t))].$$

In view of Lemma 2.2, functions  $y_1, z_1$  are well defined. First, we show that

(3.1) 
$$z_0(t) \le z_1(t) \le y_1(t) \le y_0(t), \ t \in J.$$

Put  $p = z_0 - z_1$ ,  $q = y_1 - y_0$ . This and Assumptions  $H_3, H_5$  yield

$$p'(t) \geq F_2(z_0, y_0)(t) - F_2(z_0, y_0)(t) - \mathcal{F}(z_0, z_1, y_0, y_1)(t)$$
  
=  $K_1(t)p(t) + L_1(t)p(\alpha(t)) - K_2(t)q(t) - L_2(t)q(\alpha(t)),$ 

$$q'(t) \geq F_1(y_0, z_0)(t) - F_1(y_0, z_0)(t) + \mathcal{F}(y_0, y_1, z_0, z_1)(t)$$

$$= K_1(t)q(t) + L_1(t)q(\alpha(t)) - K_2(t)p(t) - L_2(t)p(\alpha(t)),$$

and

$$0 \leq G_2(z_0, y_0) - G_2(z_0, y_0) + M_1[z_1(T) - z_0(T)] - M_2[y_1(T) - y_0(T)]$$

$$= -M_1q(T) - M_2p(T),$$

$$0 \geq G_1(y_0, z_0) - G_1(y_0, z_0) + M_1[y_1(T) - y_0(T)] - M_2[z_1(T) - z_0(T)]$$

$$= M_1p(T) + M_2q(T).$$

By Lemma 2.5, we have  $z_0 \leq z_1$ ,  $y_1 \leq y_0$ .

Now, we put  $p = z_1 - y_1$ . Then

$$p'(t) = F_{2}(z_{0}, y_{0})(t) + \mathcal{F}(z_{0}, z_{1}, y_{0}, y_{1})(t) - F_{1}(y_{0}, z_{0})(t) - \mathcal{F}(y_{0}, y_{1}, z_{0}, z_{1})(t)$$

$$\geq [K_{1}(t) - K_{2}(t)]p(t) + [L_{1}(t) - L_{2}(t)]p(\alpha(t)),$$

$$0 = G_{2}(z_{0}, y_{0}) - M_{1}[z_{1}(T) - z_{0}(T)] + M_{2}[y_{1}(T) - y_{0}(T)] - G_{1}(y_{0}, z_{0})$$

$$+ M_{1}[y_{1}(T) - y_{0}(T)] - M_{2}[z_{1}(T) - z_{0}(T)]$$

$$\leq -(M_{1} + M_{2})p(T),$$

by Assumptions  $H_3$  and  $H_5$ . Hence,  $z_1 \leq y_1$ , by Lemma 2.4, so condition (3.1) holds. Next, let us assume that

$$(3.2) z_{k-1} \le z_k \le y_k \le y_{k-1}$$

for some integer k > 1. Put  $p = z_k - z_{k+1}$ ,  $q = y_{k+1} - y_k$ . Then

$$p' = F_{2}(z_{k-1}, y_{k-1}(t) + \mathcal{F}(z_{k-1}, z_{k}, y_{k-1}, y_{k})(t)$$

$$- F_{2}(z_{k}, y_{k})(t) - \mathcal{F}(z_{k}, z_{k+1}, y_{k}, y_{k+1})(t)$$

$$\geq K_{1}(t)p(t) + L_{1}(t)p(\alpha(t)) - K_{2}(t)q(t) - L_{2}(t)q(\alpha(t)),$$

$$q'(t) = F_{1}(y_{k}, z_{k})(t) + \mathcal{F}(y_{k}, y_{k+1}, z_{k}, z_{k+1})(t)$$

$$- F_{1}(y_{k-1}, z_{k-1})(t) - \mathcal{F}(y_{k-1}, y_{k}, z_{k-1}, z_{k})(t)$$

$$\geq K_{1}(t)q(t) + L_{1}(t)q(\alpha(t)) - K_{2}(t)p(t) - L_{2}(t)p(\alpha(t)),$$

and

$$0 = G_{2}(z_{k-1}, y_{k-1}) - M_{1}[z_{k}(T) - z_{k-1}(T)] + M_{2}[y_{k}(T) - y_{k-1}(T)]$$

$$- G_{2}(z_{k}, y_{k}) + M_{1}[z_{k+1}(T) - z_{k}(T)] - M_{2}[y_{k+1}(T) - y_{k}(T)]$$

$$\leq -M_{1}p(T) - M_{2}q(T),$$

$$0 = G_{1}(y_{k}, z_{k}) - M_{1}[y_{k+1}(T) - y_{k}(T)] + M_{2}[z_{k+1}(T) - z_{k}(T)]$$

$$- G_{1}(y_{k-1}, z_{k-1}) + M_{1}[y_{k}(T) - y_{k-1}(T)] - M_{2}[z_{k} - z_{k-1}(T)]$$

$$\leq -M_{1}q(T) - M_{2}p(T),$$

by Assumptions  $H_3$  and  $H_5$ .

Hence,  $z_k \le z_{k+1}, y_{k+1} \le y_k$ , by Lemma 2.5.

Put  $p = z_{k+1} - y_{k+1}$ . Then

$$p'(t) = F_{2}(z_{k}, y_{k})(t) + \mathcal{F}(z_{k}, z_{k+1}, y_{k}, y_{k+1})(t)$$

$$- F_{1}(y_{k}, z_{k})(t) - \mathcal{F}(y_{k}, y_{k+1}, z_{k}, z_{k+1})(t)$$

$$\geq [K_{1}(t) - K_{2}(t)]p(t) + [L_{1}(t) - L_{2}(t)]p(\alpha(t)),$$

$$0 = G_{2}(z_{k}, y_{k}) - M_{1}[z_{k+1}(T) - z_{k}(T)] + M_{2}[y_{k+1}(T) - y_{k}(T)] - G_{1}(y_{k}, z_{k})$$

$$+ M_{1}[y_{k+1}(T) - y_{k}(T)] - M_{2}[z_{k+1}(T) - z_{k}(T)]$$

$$\leq -(M_{1} + M_{2})p(T).$$

Hence,  $z_{k+1} \leq y_{k+1}$ , by Lemma 2.4, so  $z_k \leq z_{k+1} \leq y_{k+1} \leq y_k$ .

Hence, using the mathematical induction, we have

$$z_0(t) \le z_1(t) \le \cdots \le z_n(t) \le z_{n+1}(t) \le y_{n+1}(t) \le y_n(t) \le \cdots \le y_1(t) \le y_0(t)$$

for  $t \in J$  and  $n = 1, 2, \ldots$  Employing standard arguments we see that the sequences  $\{y_n, z_n\}$  converge to their limit functions y, z, respectively. Indeed, y and z are solutions of problem (1.1) and  $z_0(t) \leq z(t) \leq y(t) \leq y_0(t)$  on J.

To show that z, y are the minimum and maximum solutions of (1.1) we have to prove that if  $(u, v) \in [z_0, y_0]_* \times [z_0, y_0]_*$  is any solution of (1.1), then  $z(t) \leq u(t) \leq y(t)$ ,  $z(t) \leq v(t) \leq y(t)$  on J. To do this, we assume that  $z_m(t) \leq u(t) \leq y_m(t)$ ,  $z_m(t) \leq v(t) \leq y_m(t)$ ,  $t \in J$  for some integer m. Let  $p = z_{m+1} - u$ ,  $q = v - y_{m+1}$ ,  $P = u - y_{m+1}$ ,  $Q = z_{m+1} - v$ . Then, in view of Assumptions  $H_3$  and  $H_5$ , we have

$$cllp'(t) = F_{2}(z_{m}, y_{m})(t) + \mathcal{F}(z_{m}, z_{m+1}, y_{m}, y_{m+1})(t) - F_{1}(u, v)(t)$$

$$\geq K_{1}(t)p(t) + L_{1}(t)p(\alpha(t)) - K_{2}(t)q(t) - L_{2}(t)q(\alpha(t)),$$

$$q'(t) = F_{2}(v, u)(t) - F_{1}(y_{m}, z_{m})(t) - \mathcal{F}(y_{m}, y_{m+1}, z_{m}, z_{m+1})(t)$$

$$\geq K_{1}(t)q(t) + L_{1}(t)q(\alpha(t)) - K_{2}(t)p(t) - L_{2}(t)p(\alpha(t)),$$

$$0 = G_{2}(z_{m}, y_{m}) - M_{1}[z_{m+1}(T) - z_{m}(T)] + M_{2}[y_{m+1}(T) - y_{m}(T)] - G_{2}(u, v)$$

$$\leq -M_{1}p(T) - M_{2}q(T),$$

$$0 = G_{2}(v, u) - G_{1}(y_{m}, z_{m}) + M_{1}[y_{m+1}(T) - y_{m}(T)] - M_{2}[z_{m+1}(T) - z_{m}(T)]$$

$$\leq -M_{1}q(T) - M_{2}p(T),$$

and

$$P'(t) = F_1(u, v)(t) - F_1(y_m, z_m)(t) - \mathcal{F}(y_m, y_{m+1}, z_m, z_{m+1})(t)$$

$$\geq K_1(t)P(t) + L_1(t)P(\alpha(t)) - K_2(t)Q(t) - L_2(t)Q(\alpha(t)),$$

$$Q'(t) = F_2(z_m, y_m)(t) + \mathcal{F}(z_m, z_{m+1}, y_m, y_{m+1})(t) - F_2(v, u)(t)$$

$$\geq K_1(t)Q(t) + L_1(t)Q(\alpha(t)) - K_2(t)P(t) - L_2(t)P(\alpha(t)),$$

$$0 = G_2(u, v) - G_1(y_m, z_m) + M_1[y_{m+1}(T) - y_m(T)] - M_2[z_{m+1}(T) - z_m(T)]$$

$$\leq -M_1 P(T) - M_2 Q(T),$$

$$0 = G_2(z_m, y_m) - M_1[z_{m+1}(T) - z_m(T)] + M_2[y_{m+1}(T) - y_m(T)] - G_2(v, u)$$

$$\leq -M_1 Q(T) - M_2 P(T).$$

This and Lemma 2.5 give  $z_{m+1}(t) \leq u(t) \leq y_{m+1}(t)$ ,  $z_{m+1}(t) \leq v(t) \leq y_{m+1}(t)$  on J. This proves by induction that  $z_n(t) \leq u(t) \leq y_n(t)$ ,  $z_n(t) \leq v(t) \leq y_n(t)$  on J for all n. Taking the limit as  $n \to \infty$ , we conclude the assertion. The proof is complete.

# Example 3.2. Consider the problem

(3.3) 
$$\begin{cases} x'(t) = t \left[ x(\sqrt{t}) + \frac{1}{2} y(\sqrt{t}) \right] \equiv F_1(x, y)(t), & t \in J = [0, 1], \\ y'(t) = t \left[ y(\sqrt{t}) + \frac{1}{2} x(\sqrt{t}) \right] \equiv F_2(y, x)(t), & t \in J, \\ 0 = x(1) + y(1) \equiv \mathcal{G}_1(x, y), & 0 = y(1) + x(1) \equiv \mathcal{G}_2(y, x). \end{cases}$$

Put  $y_0 = 1$ ,  $z_0 = -1$ . Then Assumption  $H_2$  holds. Indeed,  $K_1(t) = K_2(t) = 0$ ,  $L_1(t) = t$ ,  $L_2(t) = \frac{1}{2}t$ ,  $t \in J$  and  $M_1 = 1$ ,  $M_2 = 2$ . Moreover, condition (2.5) holds too. In view of Theorem 3.1, problem (3.3) has extremal solutions in the sector  $[z_0, y_0]_*$ .

#### REFERENCES

- [1] Ch. Bai and J. Fang, The existence of a positive solution for a singular coupled system of nonlinear fractional differential equations, *Appl. Math. Comput.*, 150:611–621, 2004.
- [2] T. Jankowski, Existence of solutions of boundary value problems for differential equations with delayed arguments, J. Comput. Appl. Math., 156:239–252, 2003.
- [3] T. Jankowski, Monotone method for second-order delayed differential equations with boundary value conditions, *Appl. Math. Comput.*, 149:589–598, 2004.
- [4] T. Jankowski, Advanced differential equations with nonlinear boundary conditions, *J. Math. Anal. Appl.*, 304:490–503, 2005.
- [5] D. Jiang and J. Wei, Monotone method for first- and second-order periodic boundary value problems and periodic solutions of functional differential equations, *Nonlinear Anal.*, 50:885– 898, 2002.
- [6] G. S. Ladde, V. Lakshmikantham and A. S. Vatsala, Monotone Iterative Techniques for Nonlinear Differential Equations, Pitman, Boston, 1985.
- [7] G. Wang, R. P. Agarwal and A. Cabada, Existence results and the monotone iterative technique for systems of nonlinear fractional differential equations, Appl. Math. Lett., 25:1019–1024, 2012.